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Math 3200 – Ch2 Test 








Name:___________________________
Total – 35 marks
Part A – Multiple Choice Items (10 marks)

1. What is the range of [image: image2.png]flx) =2/x—3



?








1._____
A. [image: image4.png]





B. [image: image6.png]w





C. [image: image8.png]





D. [image: image10.png]



2. Which parameter(s) causes the graph of [image: image12.png]f(x)



 to shift horizontally?
[image: image14.png]F(x) = a/bx—h)





2._____
A. b



B. a, b, and h

C. a & h



D. b & h
3.
Which graph best represents [image: image16.png]


if [image: image18.png]


?
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C.



D.
[image: image1.png]flx) =2/x—3



4. 
What is the domain for [image: image20.png]flx) = V6—3x



?







4._____



A) 
[image: image21.wmf]{

}

2,

xxxR

£Î


B) {
[image: image22.wmf]{

}

2,

xxxR

³Î


C) 
[image: image23.wmf]{

}

3,

xxxR

£Î


D) 
[image: image24.wmf]{

}

3,

xxxR

³Î

}
5. 
Which statement below best represents how the graph of [image: image26.png]—2(y—1):\/x+3



 is related to the graph


of [image: image28.png]


?











5._____


A. reflected in the y axis, vertical stretch of 2, and 3 units to the left


B. reflected in the x axis, horizontal stretch of 2, and 3 units to the right


C. reflected in the y axis, horizontal stretch of [image: image30.png]


, and 3 units to the right


D. reflected in the x axis, vertical stretch of 2,and 3 units to the left

6.
What are the invariant points for the graphs of [image: image32.png]


 and [image: image34.png]


?



6._____


A. [image: image36.png](£1,0) and (++2,+ 1)





B. [image: image38.png](+1,0) and (+v2,1)





C. [image: image40.png](#1,1) and (+v/2,0)





D. there aren’t any invariant pts

D. [image: image42.png]



7. 
Which radical function has a domain of 
[image: image43.wmf]{

}

2, 

xxxR

³-Î

 and range of  
[image: image44.wmf]{

}

3, 

yyyR

£Î

?


7._____

A) [image: image46.png]y—3

—x+2






B)  [image: image48.png]y+3=—x—2




C) [image: image50.png]





D)  [image: image52.png]y+3=1+/x+2




8.    Which of the following equations describes the given graph?   





8._____


A) [image: image54.png]y=2/x—1






B)  [image: image56.png]y

—24/x—1







C)  [image: image58.png]


  

D)  [image: image60.png]



9.
Given the graph of [image: image62.png](x)=v8—x-3



 , graphically determine the solution to [image: image64.png]VB—x-3




.
[image: image65.emf]x

-8 -6 -4 -2 2 4 6 8

y

-6

-5

-4

-3

-2

-1

1

2

3

4

5


A) 0
B)
no solution
C) 
4
D)
-12
9.
Where would the graph of [image: image67.png]y =

x+7—4



 cross the x-axis?





9._____


A. 4


B. 9 and -23

C. -7


D. 9
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


10.
If [image: image69.png]


 is shown below, what would the graph of [image: image71.png]


 look like?
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C.



D.

Part B – Completion Items (5 marks)

11.
What is the x coordinate of the point of intersection of [image: image73.png]f(x) =6—2x and g(x) =v3x% -5



?  

Round your solution to the nearest hundredth.






11.__________

12. 
What single equation would I enter on my graphing calculator to solve this radical equation
 [image: image75.png]


?







12_________________
13.
Solve for x:
[image: image77.png]











13___________

14.
If [image: image79.png]flx) =4—x



, what is the domain and range of [image: image81.png]


?




14___________













    ___________

Part C – Show all workings for the following questions.






(20 marks)

15.
Use the grid provided to solve the radical equation for x:
[image: image83.png]





[image: image84.emf]x
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16.
Given the function [image: image86.png]


, what would the new equation be if the graph was vertically stretched by a factor of 3, horizontally stretched by a factor of  [image: image88.png]


, reflected in the x and y axes, and translated 6 units left?
(3 mks)
17.
State the domain and range for the graph of the function  [image: image90.png]


.  

Justify your answers. 









(4 mks)

18. 
Solve the following radical equation algebraically:

[image: image92.png]x =+y/—5x + 26 + 4





(5 mks)


Identify the restrictions on the variable.

19. 
Sketch the graph of [image: image94.png]


 given the graph of [image: image96.png]


.  Find the invariant points. 
(5 mks)
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